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Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Answers to the two sections should be written in separate answer books.

SECTION -1

Q1) Answer any four of the following : [16]

a) Neomenthyl chloride undergoes base catalyzed dehydration 200 times
faster than menthyl chloride. Explain.

b) Therate of acetolysis of the following compounds are as follows. Explain.
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c) Chair-boat interconversion is more facile in cyclohexanone then in
cyclohexene. Explain.

d) Give the preferred conformations of the four tetramethyl cyclohexanes
given below. Esitmate the enthalpy of these, based on this indicate the
stability of these compounds. Explain your answer clearly.
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e) Reaction of cyclohexene with peracid followed by hydrolysis gives trans

1, 2-diol, whereas similar reaction of trans cyclodecene give trans
1, 6-diol.
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02) Predict the product/s in any four of the following and explain the stereochemistry
involved. [12]
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03) Write short note on any three : [12]

a) Alderrule.
b) Trans annular interactions.
c) Isomers of perhydroanthracene & their stability.

d) Conformational rule.
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SECTION - 11

04) a) Explain with the help of Mobius and Huckel aromatic transition state
approach the [1, 3] shift is thermally or photochemically allowed process.

[4]

b) Predict the product/s in any three of the following : [6]
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c) Suggest Mechanism of the following reaction : [2]
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Predict the product/s & write the correct stereochemistry & justify your

answer. (Any three) [6]
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Write short note on "Chiral Pool". [3]
Suggest suitable reagent for the following conversion (any two) : [5]
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Solve the following (any two) : [6]
i)  Complete the following reaction sequence.
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i)  Write pyranose structure of D(+) - Glucose.
iii) Write short note on 'Anomeric effect'.
Predict the product/s and write mechanism (any three) : [6]
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iV) Methyl - B -D- glucoside (CH3),S0, 2 dilHC 2

NaOH

What is optical purity? How it is calculated? Illustrate with suitable
example. [2]
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